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TARGET  To multiply numbers
with up to two decimal
places by whole
numbers.

When multipying a decimal by a whole number

You need t0 be carclul thatthe answer has the

Cortect number of decimal places. Generally

there must be the same number of decimal

plces inthe decimal being multplie a5 i the

Examples
083 =24

083%2 =166
0083 % 2= 0166

The exception, of course,is when the smalest
value digit of the answer is 2 0.

Examples
0065
125 x4

03 (030)
(5.00)

The same rules apply when using a witten

method. In practice this i straightforward

providing you set out your calculation neatly and

align decimal point,

Examples
1537 2769
Far %3
9222 807

However, itis abways advisable to check that
your answer is a sensible one.

Example @ 1537 rounds to 15
15x6=90
9222 s a sensible answer,

Example € 2769 rounds to 260
280 x 3= 840
8307 is a sensble answer,

One bathroom te s 0:3m long.
How long is  row of

) 2ties b) Stles O Bties?
One can of beans weighs 0-4kg,
Whatis the weight of:

@ 2ans b) 3aans o 7cang?

Work out
06km x 2 08 lires x 7
05 lves x 8 07amx3
09k x 6 osmxs
02mx9 06kg 8

Wor

One can of paint holds 35 tres
Copy and complete to find the capacity
o

2 4cns b) 7 cans.
35itres 35 ltres
x_4

Abike race circuit s 28km long.
How long is a ace of:

O 3cits b Scrcuts?
28 28
x3 s
out
49mxs 83x4
67km x 2 65x7
86lires x 3 27x9
S8 x9 56x6
94mx6 39x8

72k %8 48x7

B
© A tube of toothpaste holds 0.8 s
Whats the capaciy o
a) 3wbes b) Stubes ) 9 tubes?
© One pot noodle weighs 0.09Kkg
What s the weight o
2) 2pots b) 9pots O 12pots?

Workout
© worxs @ 009 x3
Qoorimxs @ 03xs
@oomxs @ ooskmx4
Qoosivesxs  © oomxs

 One barof chocobte cost £139.
Copy and compee o find th cost o

a) 3bars b) 8 bars,
£139 £139
x_3 x_ 8
i s

@ Oneinch s 254cm. Copy and
complte o ind how maty cetimetres

 Ginches b Finches.
254 254
6 x__9
Work out
@msamxs @ s19x4
Q@ azexs @ s27x8
©asgxs @ er3x7
@seamx3 @ 258x9
@ sisivesx7 @ 745x6
© 3929 @ s07x3

@ Cans of paint hotd 478 e,
Whatis e ttal capacty of 6 cans?

c

© A cipping tap loses 0.005 s every
secondHow much waer s ost in:
2 5seconcs
b) 12 seconds.
9 40seconcs?

© One coin weghs 00121
What s the weght of

) 7 coins
b) 11 coins
9 20 coins?

Workout
Qooinx7 @ o0sxs
@ ooosiesx 11 @ 0004 x 12
Qoosnxs @ o0mwxs
Qoorigxs @ o0orx4

@ T tcets cost £52.75 each.
Copy and complee to i the cost of

a) 4 tickets b) 9 tickets.
£5275 £5275
b O

£ £

® One pto e weighs 28
Copy andcompit o fin the weiht o

2 5ties b 12ties
268519 26859
] i
kg )
Workout
@sxe @ sseixs
@2ssamxs @ onsx3
@eisrimxs @ 14s7x9
@ sigxs @ ss7axy
@ 6397 @ 7195 x4

© ssciwes s @ 9266




